= A
N = 0 &b AF & & Al
2021E S =20 INg=E=2 i)
nj=%-}
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50,378,481 62,985,671 A12,607,190
= 8,100,000
[= 42,278,481
ot IE U 3t 49,679,741 62,927,171 NA13,247,430
= 8,100,000
[ 41,579,741
X 13,272,386 9,797,501 3,474,885
SHAXNA(2UNEEXNA) 4,166,000 4,360,000 A 194,000
4,166,000 4,360,000 A 194,000
4,166,000 4,360,000 A 194,000
(Z=2)M SHAXNA(SLTP)
4,166,000,000 4,166,000
A HEIs KA (2HEEX L) 1,443,000 850,000 593,000
1,443,000 850,000 593,000
1,443,000 850,000 593,000
JESHR HEIS NIAY
1,443,000,000 1,443,000
JZHAHESIYERNT NI (2HEFXA) 230,000 230,000 0
230,000 230,000 0
230,000 230,000 0
AHELT KA (ZLTP)
230,000,000 230,000
1,230,000 1,781,558 A551,558
1,230,000 1,781,558 A551,558
1,230,000 1,781,558 A551,558
SO NG HEAIL(SLTP)
330,000,000 330,000
D2HE 2F(54TP)
500,000,000 500,000
o KIAMH P=A 400,000,000 400,000
= 5,386 5,543 A 157
2,678 2,835 A157
U o4 1] 2,678 2,835 A 157
Ottlgss Ad2FA (AR 2,678,000 2,678
203 YR =& 2,708 2,708 0
03 Al EZ A2 EXH| 2,708 2,708 0
Ot ss A2EA(HAEZ) 2,708,000 2,708
ESUINSEAZHAH MASH(2INEFN) 2,750,000 2,189,000 561,000
306 012 2,750,000 2,189,000 561,000
01 5012 2,750,000 2,189,000 561,000
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Osg =30t 1,807,000, 000 1,807,000
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943,000, 000 943,000
AHASETR Aol (2HEFXHA) 3,328,000 0 3,328,000
6 EHS 3,328,000 0 3,328,000
=03 3,328,000 0 3,328,000
OF20UX A& RANRER XN (5LTP)
3,178,000, 000 3,178,000
ORMIARSER gb gTP)
150,000, 000 150,000
sttt E 120,000 252,000 A 132,000

06 EHS 90,000 225,000 A 135,000
B 90,000 225,000 A 135,000
Osd &= K2 AL (Ol AR 2

) 90,000,000 90,000

307 glz2tol & 30,000 27,000 3,000

03 QIZtHNHE2EH L 30,000 0 30,000
Osg & 30,000, 000 30,000

2 =4 14,902,000 31,544,000 A 16,642,000
ClASdol a3 CEPIESESPARD 12,818,000 28,350,000 A 15,532,000
6 EAHS 12,818,000 28,350,000 A 15,532,000
= 12,818,000 28,350,000 A 15,532,000
otAasd SAS(SETP
) ,818,000,000 12,818,000
HE 2L EHE AL ( 1,584,000 1,194,000 390,000
EPIESFSPAECD!

306 =493 1,584,000 1,194,000 390,000
£03 1,584,000 1,194,000 390,000
Oosdg 3¢ ZHLI=NZEEH

B A ( 1,584,000, 000 1,584,000
ClAa=dl0l A3 X2 AHS 500,000 500,000 0

306 23 500,000 500,000 0

01 &3 500,000 500,000 0
Osd Uasdol AH g K&

A (EE 500,000, 000 500,000
MY =4 15,215,000 21,080,000 25,865,000

= 8,100,000
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01 52 1,469,000 1,518,000 A 49,000
OFAHSH XX B A5 L AgI|et &
H(E<TP) 1,469,000, 000 1,469,000
Ses FEIE DA JBIR=E(Z2IIEEHXH) 981,000 1,017,000 A 36,000
306 22 981,000 1,017,000 A 36,000
01 542 981,000 1,017,000 A 36,000
OSed MEDE NoE JBIR=E(SYTP)
981,000,000 981,000
AFIIAMEIN BEIY SH(2I2HNL) 1,040,000 500,000 540,000
306 =432 1,040,000 500,000 540,000
01 92 1,040,000 500,000 540,000
OASEIMNEI} BEIY 84 (5LTP)
1,040,000, 000 1,040,000
MStEBE AT S SAANY (22 EXLY) 550,000 550,000 0
307 2I2t0| ™ 550,000 550,000 0
02 QI2tAAMAIE E =X 550,000 550,000 0
OMBIUEE Matgal Hels g4
550,000,000 550,000
LSINSEAMMAEHAIL (2R EZ X ) 60,000 60,000 0
307 giztol A 60,000 60,000 0
02 QI2tAAMAIE E =X 60,000 60,000 0
OHgetd SSI ML XA 60,000,000 60,000
SAHS MR RHEES X2 7,650,000 14,685,000 7,035,000
= 6,750,000
o=} 900,000
403 XX S M S K201 & 7,650,000 14,685,000 A7,035,000
= 6,750,000
= 900,000
01 AIXSHHMA2E X 7,650,000 14,685,000 N7,035,000
Ox=A2dHSEXX FHEZZS X3
7,650,000,000 7,650,000
= 6,750,000
o 900,000
=AHA FHEXZS XS 1,755,000 2,250,000 A 495,000
= 1,350,000
= 405,000
403 XX SHHS K20| & 1,755,000 2,250,000 A 495,000
= 1,350,000
& 405,000
01 MXSHHXNEE X 1,755,000 2,250,000 A 495,000
=AHA FMEEXZ2 X2 1,755,000, 000 1,755,000
= 1,350,000
& 405,000
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306 23 1,710,000 500,000 1,210,000
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OsMALEZ XS (0Ma&EZ) 910,000,000 910,000
HOl24tE &4 6,290,355 505,670 5,784,685
T2HI0|QEIA MY BEE A=A (ZIIXEXLH) 350,000 420,000 70,000
307 2Iz2t0| & 350,000 420,000 70,000
02 QIZHA AAIE E X 350,000 420,000 A 70,000
OZZHIOIQEAAMH E3HE 2SAY
350,000,000 350,000
NEADAM SHAL(ZIREXH) 60,000 80,000 A 20,000
307 212t0| & 60,000 80,000 A 20,000
02 DIZHEAAIRE 2 X 60,000 80,000 A 20,000
OX<EdHIDAMA A (HIR&D) A 60,000,000 60,000
HOICSE AL ELERARSE 29 5,355 5,670 AN315
201 LBt 9| 5,355 5,670 AN 315
01 AP 22| H| 5,355 5,670 A 315
OHI0|2EEtEY AR 2H(AEZ)
5,355,000 5,355
Slal AT J|eH THEHAHN CH2 A (2R E X 3,375,000 0 3,375,000
=
306 542 3,375,000 0 3,375,000
o1 s 3 3,375,000 0 3,375,000
Qe A Jle THEEH AN CH2E AF (=
=HTP) 3,375,000,000 3,375,000
SOHAA A=JE J=2DE 5 XA (ZIHEFXH) 2,500,000 0 2,500,000
306 52 2,500,000 0 2,500,000
01 s2 2,500,000 0 2,500,000
OLHHAY AZE)|8 D=sDEs KA (EY
TP) 2,500,000,000 2,500,000
HEES(MAdSHD) 643,300 0 643,300
WEHH XS (AESHED) 643,300 0 643,300
HWEHAHXS (AESHDH 643,300 0 643,300
705 Ol=2 22| S 4aE 643,300 0 643,300
04 Al - EXYHED| S0 2=20| XHakst 643,300 0 643,300
OA - EXYHLI 2020l A& (CIAZY
0] B EHE REANY) 567,000,000 567,000
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